a -
685. EEH\J [F’;:m -

J. (?), EJO, GLQ, INS. *

(A)  FLR (B) FIS

6. H VB T.FREP 2

WA IC, (B) D, N

67. 4.3:10::8: 5

(A) 10 (B) 13

68 If TEJL;FHI“l IS written as 1234. CL

LAY 1247 (B) 4847
63, CALANDER is coded in a code as

under the same rule. Wi .

: - ATET H CAL .

B papat e - LANAEDR fergr @ & | =h
FIEHETETY CIRCULAR 35y feraaT AT S ' glhi:;l’

(A " |
{*:?':;: LACANDER B~ CRIUCALR o

CLANADER (D) None of these Tuqviae 8 ¥ FrF 1 P

{1'1,1.' Either he = h'-lpp}.r or he is . ' +) A
: - | poor. Iq1 7 T8 0T I b
{b}HEr!Ehappy,ag'qsﬂ%_r TR DT :

Inference : He is poor, ST 98 I R TE.lE:i

2 Y~ 5847 )y
ANAEDR. Find the code for CIRCULA

7k

A2 The inference is definitely true HFAF goiaa: Teg 2 DEE
(B) The inference is definitely false HHE t;ﬂi?m e ks H]?ﬁ
(C) The inference is probably false or tmeﬂaﬁm‘wl HHA, .E'i-'ul'iﬂﬁil-’ q7 J9 8 -!
(D) The inference can not be drawn 3T 81 Rder o |GFar & )
71. (a) Those who are honest are good teachers. 9l 9FER B9 B o7 S 19eres 219 & | p
(D) Hard working peopie are honest Hg1m ST $AFCK 29 & i}
inference: Hard work is the necessary quality of a good teacher. S “
JEIA - WEE U@ 0 (IR BT SaTEd O | @ 7
L) The inference is definitely true =419 Jorea: el 8 )
(B)  The inference is definitely false 39 gofas: s & Z)
(L) The inference is probably false or true 3FHIA H¥d: 380 U1 T &
() Ihe inference can not be drawn FTAA TR yaTer S el & 8.
4)

/2. Dased on the following statements which is the correct conclusion drawiz)”
RIS B U B AR W B W 9E Prend R & o 27

COnly gentlemen can become members of the club. Many of the members of the club are?
officers. Some of the officers have been inyited for dinner. @3 Houl §o4 74 @ Fa¥A)
T W & | SRS T B GO aRed | e gfeRd @ 9 He R St @9
STl B |
(A) All the members of the club have been invited for dinner 4 & il wew B b

e e i Y
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i am e |
uniry is said to be in a deb trap if qa:iET

(A) It has to abide b
_ the conditio pose
T8 FRIEE 42T Fe Nalilies T
G W) gl # Autstanding lpans

E}# It has to borrow to make i
lerest gnts O
= gHH @ Y gur ‘-:?!?1: e i
e el &Y

(C) It has been refuse:
used loans - pro
(D) fh W R o T & o ald by crenlor® ©
e World Bank charges a very n terest on ou

. My h rﬂ'[E I:If n (=)
ERD _ﬂ‘hﬁ A wmﬁwaﬁlﬁmﬁﬁmmﬁwﬁ

18 5 oy AR TR

With respect to GST, consider following statements GeT i W 7 e 0e T

;. Ee:unes cascading effect @ wira @ @3 X E |

- comprehensive indirect tax @& vF WM ' &
2. Aimed at forging a commean dﬁ-mastip;'mﬂf“’_t. Eﬂ’;ﬁﬂﬂﬁﬂlﬁ ! Bl OHN .

Alcohol and petroleum are exempted from GST
(A) 1,2, 3 correct ¥ 2 T g 2,3 corect ¥ B
(C) 2.3 4 correct Oe] B liu:;f All the abhove are correct [l Hel E
50. India's current account deficit in Balance of Trade IS mainly due to WRT @ ZTYTHIEN

AT it Prafa & we g B A A o o T 1 A BT &
(@) Increasing imports of oil and petroleun 7 #T¥ feiferd™ @ SATHI H gl
(b) Increasing imports of gold and silver #T &7 e 1 1 e i
(c) Increasing imports of food grains & yerdl & e o ghe
(d) Increasing imports of iron and steel 72 R 299 @ oA ¥ g

(A) _ (a), (b)and (c) (B) (a)and (c)
—4€]~ (a)and (b) (D) (a)and (d)
51, Find the minimum number of slraight lines required to make the given fi
qure.

(A)




- "'l : -
¥

A S A W B ne gets 2!
David divides 78 by half and adds 11, what numbe’ -

zfﬁa#ﬂmﬁ11m"ﬁ,ﬁamﬁ_m$ﬁm o
Ay 50 B) 44% (Cy 167 | r[mte.:r.
s0. In a knockout football competition 23 tﬂﬂmﬁhf ﬁiﬁ? e
nulml:rsr of matches they needed to play to dﬂ_;iﬁe the 33 B
R ¥ 23 ST A T T | Eﬂﬂtﬁ'ﬁrﬁﬁmﬁﬂﬂq
a1 2 Ve ¥ G ox o (D)

A 11 (B) 21 :
: At half past 5 in the evening, the smaller aﬂgﬁﬁ - -
:lclm:i-t. isﬂﬂﬂ% 530 g9, el & He 3R e ﬁazﬁr&‘!‘cﬁ ﬁfﬂ;‘
A) 10 4B) 12° (c) £15° {.J
52.  Fillinthe blanks et R RY : BACBASBAC_ACB_CBAC L
B) BBCA  [Sy«CCBA , (D] CB

63. Angles of a given triangle are in the ratio of 2:3:4. What kind of triangle is the given

iangle? fe T BT ¥ BN 1 g 234 &1 R B fFE weR @ e 8

(A) Right-angled WHDI (B) Obtuse angle & W

(C) lsosceles Wafgag HOT O Acute angle T iy

684. The houses of A and B face each Ol€r on a road going north-south. A's being o

the western side. A comes out of his house; lurns left. travels 5 km. t i
_ ; o Kt ] UT
km to the front of D's house. B does exactly Ihe same and reaches the f:;nnght. 'irEWEIE 0

(A)  Cand D live on the same street. C aﬁq D

& C's house faces south. C & 8y Eﬁ?ﬂrcﬂ;.ﬂ ® Wem ;
(C)  Houses of C & D are les ' % TR

(D) None of the above ST # & Pg Tﬁa‘T. .




T
-

W,

| Wi oY A far aar @ Mﬂﬂw

G
i 17l
B) Some of the officers are not gentlemen
i:-]"fﬁ.li gentlemen are members of the club ﬁﬂ :_,f_..fﬁ ?Ff‘;ﬂ gﬁ&‘ﬂ

D) Only gentlemen have been invited for dinnar ﬁﬁ[ he lﬂ‘?'_‘i'e
Ry o 2 :

2

3. inafamily there are husband, wife, two sons#"

Vited 1o a dinner. Both sons went oul fo play, Lusba™

as at home? w TRAR ¥ it TN, €1 U s @ T
S ‘n'nfritrE“‘":*:"'El 9 | < g arey e 0 Y 9T SRifeg @ A
F84 E.*fﬂ:' C'nlg,..r wife was at home ?..F}"_'?.'E_{ gl EW 0¥ off

3) Al |adies were at home 1 JREATT gv v of

C)  Only sons were at home @t T3 % v o

] me HX s
ECULAP}’J Nobody was at ho e A e

% | =74, If A is the son of Q, Q and h'd are sisters, Zis the mﬂthj
vhich of the following statements is correct? 7z A @ 7 4
LR Z @ g € A B AT s wd &7 sors: PR Y S8
9P is maternal uncle of A; P, A 1 &y & () P and ?Em':mﬁ.; e & PR
C) A and P are cousins; ASIR P o wig & D) None of the

F

5. There are 5 books A, B, C, D & E placed on a table. I - n
laced above D, B is placed below A and Ell?is piaced above E iney whlﬂ%ﬂf tl;:; fs!;wfﬁ%
100ks touches thé surface of the table? te #5 W 5 &ﬁ% ol TR E 4

@ T 8, C P D B SR T G 8, B B AP A @ o 8 D PNE D X T el St
L O ®BF H 0@ 59 & a6 & WY BRa) B 2

A) C BT B € A i E
'6. 'To decamp’ would mean:

[ & _A} Ta remove tent (B) Toevict campers
C) To decrease pressure (D) Toleave suddenly

7. Which pair is wrongly matched?
A)  Discreet : Separate (B)  Gamut -
C) Exacerbated : Increased (D) iy

'8.  ldentify the correcl pair:

A)  Elude : Dodge
awn Ly~ Forbear

-":"hfl'Erw
are/3. A devil's advocate would be: ards
ETA)  Anevil
- person
ﬁﬂ} Advocate of a criminal “ﬁﬂi‘;? Ergument
r
i Mred 5 ﬁl"’ﬂf:;th:se Ntar



: _ M-’ Hangd
Hi 8l.  Satish is seated - e sunita. (C) e
TE]TI |:;1'l,:| EE‘.!E-T.I:rEE \JE} Beside {E} EIEE]'I i The ¢
- : - 4 (D) Closeg . Deve
52. ldentify the incorrect pair: (A)
A - ,
gimen : F’I'EEEF'_TFI'IFQH {E:I E-EI'I.I'EE‘ D}F iandf'ﬂ’iﬂu-ﬂ”}-’ {ﬂ,’! Real
. L'etach | '
53. ‘I haven't studied a lot lately’. Here. 'Iﬂlﬂ;?- — ' (C) AR
ks d
(&)  Adverb (B) Adjective £C) :I g3, —
| . aun (D) Preposit Do
4 54.  Which sentence of following is correct? ) EE:{, You
) The flowers was arranged carefully.
™) O Computerssavetime, O  [hemesting start provipty at 1108, EXC
_ ) Lightning strike indist:riminately, (A) You
%3, ldentify the incorrect sentence: A (c) ha
’ . 1A) Noneof the minutes was wasted. - He
4 {29 None of the time was wasted, >
(&) Is any of the pizza lef? (A)  Am
)N
(D) one of the aboyve. | P4 3 | e A
80.  Among the two statements: A | _ . 55
(1) Either Satish or Sejal takes out the garbage. . {g% I|, :E
(i) Each of these prescriptions have side effects. © .-+ - | f‘
- AL | (Ey  |re
" Sethaseondet (B) (i) Is correct, (ii) is incorrect ol
(C) (i) is incorrect () is correct (D) Both are incorrect
- =22 ]
2/.  Choose the sentevjﬂa that has incorrect form of words: (A) To
~A) - When will you bring you're pictures to work? - \C)  Tc

(B)  Itis your responsibility to go into details.

(C)  If you're planning to attend, do |et me know. & g8 7,
(D)  None of above |

1.'I'

(A)  Te
o her speak on Friday night about the advantages of organic gardening. ), T
(A) will have heard . 99 Tt
) w::-u_fd have heard Jgg EE;J::?E:TEE[ \A) y
39 Choose all iﬂﬂﬁrmﬂﬂinﬂnmplete_ sentence: - {E} Ll
A] Ihe children in the park, Including all those on the swings.. 100, g
(B)  Sarita is an excellent schoo| teacher (A
fE_] She couldn't believe the Premise of thE story ) M
(D) |sawDr. Gho nb ©) i
=l Deécause Dr, Khan was on leave



d—' B e S

12. Two places R and S are art from _
L. e are 800 km ap gach vy
nobile Tpr towards S at an interval of 2 hours. Whereas A '€ay Olher. Two persons start from R

. 2Ves R for S before B The speeds of
| E_nl:l B are 40 Hml"lhﬁll'lﬂ 4 E OV _ hﬁfﬂrﬂ B. The EPEE":{E of A
?grﬁﬂﬂ RioS What s GO km/'h I'EEFT’EEIWEIFI - rtar{EE A al M' which is on th'E’ WE}I' fﬂ:lm

93 the ratio of t |
0 THare: S ao0. ah %3%E"lT::Illﬂﬂftlmﬂfﬂhﬁﬂb}’ﬂﬂﬂdﬁtﬂmEEIatM?ﬁmmﬁgﬁqSqraa@%

T E T A S A
. . . ':IE
G g 1B Mg R

Hmﬁﬁﬁﬁﬂﬂﬁﬂﬂ?mﬁ'ﬁﬁmﬁ -_ | o M
SR 1 P &) A AE ) ) iy o 40 1 0 Pl o o
O N s St @, W s RE S g ' SO0 W e

TWE | MR fiem @ fBo A el

EPEE:II?EI}#. B overtakes A al M, which s on the way from
' e Wi R v 8 wp gae ©

. : | SRR a6 e B | wafe A, R @
AHETE I B, M v A 3 ; _ &l AN B T @1 id ®@HI 40 MW 60 fped)
R W € ae R o) O &, Wl 6 RY S @ Wl WR | ot e B AW am
> 95 ROW R o8 oy 2 '
vere ~ _1£7260km (B) 235 k " .
1S g¢ 14 A Ll (C} 240 km () 300 Km
2 dh jdY Covers
) ?;: 10km/h, his time duﬂéﬁz? fdlatﬂnm With his own speed but when he reduces his spead by
a'i”? SPeed by 5 kmih from his ?;:l;-lthﬂ Journey increases by 40 hours while if, he increases his
k laken. Find the distance co ginal speed, he takes 10 hours less than the original time

(A) 1000 km &% (B) 1200 km fs (C) 1500 km 5l (D) 1800 km Fxfh

EL *
| . 2 T BT a9 1 ey qem?
| (A) 10 km/h _(BF  12km/h . (C) 15kmih, 5 (BY 22 km/h 2o,
7 -
| 16.  Two rabbits start running towards Ea&ﬁ"ﬂ' er, one fron a'!'? o k-

:I' lo-A. They cross each other after one hour and the first rabbit reatghiﬂagd ;I%ﬂ;her 185
3 Ihe second rabbit reaches A. If the distance between A and B s 50 km, what i T petor
T of the slower rabbit? <1 WYIT % ¥R B 3R S8 w2 & | v A il what is the speed

Aaﬁaﬂ?iaﬁﬁqﬁ@%ﬁwﬁéwﬁrﬁwmﬁﬁaﬁ?mwaﬁﬂmﬁ;ﬁ;ﬁﬁgqu

TE W 6,/6 el Ueel UgAAl B AR A B T W9 A g s0 R & 4y ep e

AT %) AR 7 e e
(A)  20km/h (B 10kmih O 15kmh (D) 25k P 2
U o
57 s
So JE )

4 0



(A} 185kmh (B) 194 kmh 182 km/h D) 19.2 km/h

Ramesh walked 6 km ¢ - - then he boarded a train
| ; O reach the station from his house, then ne board
whose average speed was 60 km/h and uﬁms he reached his destination. In this way ne

took a total time of 3 hours. |f the -speed of the entire journey was 32 km/h then
the average speed of walking is: #?;?:Eﬂraasf ¥ U o YETA @ forg 6 feHl 9d "eidl
g'ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁm%ﬁﬁﬁrwﬂﬁmﬁﬁﬁﬁrﬁﬁ-%.aﬂ?.ﬁfﬁﬂﬂ‘rﬁfrﬂw
YU TS UEd T R | §9 WPR ¥ a8 qel A9 0e @1 W9 oar @ | afe 7@ g @ Ry
T T 32 oy " ot o dem wer ) affwd R o

(A) 5 kmih &R 8kmh (€) 2 kmh _B)  4kmh

9. Bala travels first one-third of the total distance al the speed of 10 km/h and the next
one-third distance at the speed of 20 km/li and the last

- | _ ‘one — third distanc
of 60 km/h. What is the average speed of Bala? qTell ATl B T 9! E;thﬁgée "paed

8T 60 Mﬁmﬁﬁﬁﬂmﬁlmﬁwgﬁgﬁﬁﬂﬂ?ﬂmm

(A) 18km/mh  (B) 19km/h ©) BRN ) 43 ke

11. Anita goes l0 Coll

s at 25 km/h an " |
ig;fhe distance of her school? STl el 20 gy

&) oo g B Q0 TE 2 BT o g
. 12 km e 15 km
l",ﬁ,:] 16 km (-EE'] (D) 10 k Lo
N > Ch
) v L""I;r :"I--'.I-{: D ?‘Ei._: ‘é"b“'-"-
3 1




1. The average price of 80 mobile phon® IS Rs 30,000, ¢ ¢ hi
h F

mobile phones are sold out then the averad® Price of rama: ghest and lowest pr
29,500. The cost of the highest mobile is HE"E’.D-UDEII_ dining 78 mMobile phﬂﬁeﬁ i :Eﬂ

- The
g0 HATEE W B AT q=m w 30000 L AR Cost of lowest price rrrn. .
E?ﬁ?ﬁ?am 'ﬁmﬁﬁmﬁmﬁ?ﬁﬁﬁpﬁﬁmgﬁgg
: mﬂﬁﬂﬂqﬁﬁﬂﬂ,ﬂﬂuﬂiﬂﬁﬁﬁﬂﬂw&ﬁﬂ#ﬁ%ﬁwmﬁ

- 30 % O
(A) Rs. ‘F.Eliﬂ[]'l] \—rga) Ef‘ﬂl ?35‘-151]&[} > ‘Lo

. - 1€ speed of 30 km .- e home by covering rest half of
length of journey is? yurg 4% 8o ﬁﬁlﬁ'ﬁ%ﬁ%ﬂ”ﬂ.’ﬂﬂ; Speed of the Pranav in the whg'fg

' LLE . (B) 14 kmih/14 ft gy wer 2 O (@
(C) 16 km/h/16 it ufy wey (D) 10 kmrh/10 fod. wfy wey ﬁi%gﬂﬁ%

. . ' I ;
4. The average expenditure of Mr. Sharma for the January to June is Rs. 4200 Eamj he

spent Rs. 1200 in January and Rs. 1500 in July. The average expenditure for the months
of February to July is? Trfeil &1 @=a® A S @@ &1 6T @at © 4200 £ % 92 5 1200

GHAN] H 3N 1500 eI H A BRI & | DYl ¥ Ged 9 @ FEA b 2w waf @2
(A) Rs. 2750 (B) Rs. 3250 (C) Rs. 4250 (R)—Rs. 4500

5. At the end of a business conference the ten people present all shake hands with
each other once. How many handshakes will there he altogether? Us MR T 3T

ﬁ,Eﬂﬁﬂmﬁﬁﬁmmﬁquﬂ%ﬁwmﬁmﬁﬂrﬂ%@Wmﬁﬁ#mm
Ay T 87 G T XD
4B) 45 (C) 55 By 90

= The average presence of students of a class in a College on Monday, Tuesday and

1 ' d Saturday is 30. If the
; and on the Wednesday, Thurs_day, Friday an i
;E:E;;ES iauyn‘:éegrrgﬂf students on all the six days is 26 then the number of ﬁmn:ientﬁ W

57 W.Waﬂ?wzﬁ?m&ﬂﬂﬁﬁmﬂ




(A

&

) 18

Of the followi
ralse. Which are th

(B} 20

. All machines make noise
Il. Some machines are noisy

lll. No machine makes noise

IV. Some machines are not noisy

(A)
55.

84,2 = 16 WHERY B HE B

(A

56.
(A)

| & I

(B)

P o wA A A G &
& 1V (C) 18&l BT &I

(D)

27
" _ = Y AR .
g wo statements, both ‘of which cannot be true but both can

Insert arithmetical signs in the equation foritto be correct 842=16, ..
& forr sy & & R ST el 91 siffa far s 2
(C) =+*

T, X

N R

(B)

|

If uie 84x13=8 3

3

{=)

-+

g W
7%x13=6, 26x11=6. then =t

o

o

i R
56x22="7

(D)

(D)

+ o+

also be

61.
a clo

(A)
b2.
(A)
63.
trian:
(A)
(C)



. | .« 10 mor=’
90.  What is not correct if ‘nest is to bird'? Jaul S 0 bees
A Hangar is to aircraft {5} Wine L4
(C)  Orchestra is to music U
loseg g1

The exact Opposite of 'Lascivious' would l"E g
(A) Devoted (B) Chaste EE) el

92 ‘Repercussion’ would mean: A
(R)  Reaction .|:E-:| '_:D ar FEPI?
(C)  Recollection D} Clev |
e,
o 93, ©.90 outto an Malian restaurant tonight’
tion liking
(A) Do you like (B) Are YOL i like
(C)  You like ) VORI
ly at
InEﬁ.E-[::..IE[ 4. Excuse me, lime please? it
(A) " Youhave the +8) Ve,
(€) " Have you got the o) W best fitting word)
it e
35.  He likes reading. He was 3 reader (1! Igihigwent
(A) Anxioys (B) Enfhusiastic {E}"wrﬂﬂm‘-’s |
6. | remember my sistor taking me to the museurn
(Choose the best fit among the alternatives)
(A) | remember | was taken to the museum
':EJ f remember b;Egll'Tg taken to thie: museum Dy My sistar
(157 S 'emember myself being taken to the museum by my sister
L7 R rémember taken to the museum by my sister
97. 'To make a clean breast of mgans.
(A)  To gain prominence
(C)  To confess everything
98.  'To be above board’ means:
\A)  To have a goad height
(C) To have no depts
14. 1
99.  That which cannot be corrected means
(A)  Unintelligible
(C) lllegible
100,

(A)  Monarchy
(C) Piutm:{aﬂ'y




A 0y 47 ﬁﬂﬁgﬂa?:ﬁ AT B fegn

(A) / 450K
"S0km, ., (B) 100 km g o
18,
(A) |
s B2
By &
19, |
(A) __{P} 125
20.
(A) 1142 (L 1229
i ; HI{'?:"E'“ ﬂﬂ
21.  Find the sum of first 30 natural numbers ¥a# 30 H9
(A) 470 (B) 468 ey 465 '

22.  56% of Y is 182. Whatis Y? Y @1 5% 182 &1 a1 Y @1 &

Wa-ﬁﬂ (B) 364 (c) 323

23.  Which of the following two ratios is greate
. i - ‘I-':.

(0:11 ¥ | A gT B? 1

' ly )
1/7/18 B) 10/t 8 _
(C) Both are same &l U #9 & (D) Cannot determine e 78l &Y &<

24. In a palace, supplies are available for 35 days for only 75 people. 15 Guests arrive
in the palace for vacation on day 1 itself. For how many days Wil these supplies be
cufficient for all these people? T& I | Had 75 Tl [0 35 1A Teh MY SuAEd

F | Y I qﬁﬂTﬁﬁm.%ﬂﬁﬁﬁiﬁﬂﬁiﬁaﬂmﬁ% e B @ P um
o apf) efaerdl @ o oA ey By A

(A) 90days & (B) 11.25days 1?4’*1 (C) 42days s (D) 225 days R

25. If difference belween ii‘_-ﬂn;pﬂ;.lggd 'I;Ferest & Simple Interest on

money for 2 yrs. @ 5% p.a. 18 RS.1e24. Find the sum? aft <1 oqf = _

Wﬁiﬂ?ﬁ%ﬂﬁﬁﬁﬂﬂﬁﬁﬁ?ﬂﬂﬁwmmzﬁﬁﬂaﬂwﬁ1uﬁ mﬁﬂ“ g T -
' - S ETR T

e
(C)  Rs. 16000




(B) Shamis-i-Siraj Afif M-S~ R e

SRt (D) Amir Khusrau sy e

42.  Tha p

| = TTesident of Indig referred the Ayodhya issue to the Supreme Court unds,
Eﬂh Aﬁr[r::la? TNe 3 el & arghear fare B g e 2 g o gl :
2T

(D)  Increased maoney circulation helps in controlling the inflation =01 4aT Fawoy
HETERIT &1 AT ovar 2

5 II (A)  The Reserve Bank of India Fwd #HI g

each A2 The Department of Economic Affairs g IR @ R

3 3 (C)  The Labour Bureau AHH Z[ |

raTe (D) The Department of Personnel and Training #14% g wher R
(A) 47, 'Golden Revolution' is related to st B Wy & _

6. ~1A)  Precio minerals HEH ] CIE (B) Pulses mﬁ

We (C)  Ju (D) Horticulture amrar
ave
atte



1 25. 2017 India-ASEA'N Youth Summit wa= helg from 14th

- - — 19th August, 2017 in,
= 19 ST 2017 1 srer—gnfRrr e TH B G g ) i

1 _ | T 28
g (A} New Delhi 9% foogh (B) Mumbal Hﬁg (C) Bhopal »iara (D) Chennai 3= _T;F-ITE
3 . :
: /. Under Project ‘Navika Sagar Parikram@ . Which wil Lommence in September 2017 i
. a leam of women Officers of the |ndian Navy Would Circumnavigate the globe on an Indian (A)F
built sail boat named 2017 ¥ 2, F’Tﬁ'ﬁf I URBH @ aferte, ST @) mfea (O
: TR 2% v oy ¥ @ Srermt @ WP R e by sremm 1 280
NATTNSV Durga gt (8) INSV inghe Ry (C) INSV Amba sir (D) INSV Tarin @ a8
| 28, |
in har :j{l::r? ‘n"l‘”g”Et 18, 2'3_1?. Which Asian EﬂU"*_t"!-’ launched its first Cyber court specializing (A)
| £ 9 %"tE”"'Et-I‘EIEItEd Cases? 1g I, 2017 @I, by yRrare &% 3 gevie waeh mHo C)
SFTEIT % RRIC ST e e s ST P 4 {
if ") Japan s (B)China#m  (C) South Korea =feror BiRgT  (D)Thailand e 35.
| 2;- On August 18, <017, Power Grid Corporation announced that it will get a loan of '
{ 500 million ffﬂ_m which international financial Institution for its various projects? 18 3779, AP
Eﬂ”aﬁqﬂ?ﬁﬁﬂﬂﬂmﬁﬁmmﬁq{mﬁﬁrﬂﬁm%mﬁﬂﬁwaﬁmﬁm (€
SN ST BT O A ) Hnqun w6 36
(A) Asian Development Bank frs SIETHE &% (BYWorld Bank fiva e
(C) Intemational Monetary Fund Hﬁf@ﬁﬂj‘:ﬁ T2 (D) New Development Bank ] STATHC 9 (A)
30, Who among the following cricketer nas:.continued to be the world's top-ranked One- 37
day hatsma;}r in the latest ICC ODI rankings, released in Dubai on August 18 201772 13 |
-?-Fr‘r.'ﬁ,Em}?"'gﬁfﬁmﬁﬁﬁﬁﬂmﬁﬁ?ﬂﬁﬁmﬂﬂﬁﬁﬂﬁm%ﬁﬁﬁﬁﬂﬂﬁm (A
!?ﬁﬂ%zfﬁﬂﬁé‘rﬂ#fﬁrﬁﬂ?rﬂ?w@nﬁ? 18
- M \Virat th][ ﬁl‘ﬂ?:,’ EﬁJiEFfF =3 Lavid Warner %ﬁa CIR .
(C) AB De Villiers v &t f2 fiferr (D) 'Joe Root T e 1::#.
. - B
31. - Who among the following has won a silver medal

iy n the javelin throw at the first World =~ _(C
FPara Athietics Junior Championships in Nottwil, Switzerland? sefag &

L | . Raeewere 4 & ugah (D
ﬁwﬁﬂ@ﬁﬁwqﬁmﬁﬁmﬁmﬁﬁﬁﬁﬁﬁﬁﬁwmaﬁnﬁﬁrﬁﬁﬁmmaﬁm?

o &
{#&)  Prince Ahuja ¥ ames | (B) . Jatinder Singh wififev fire ;s
(C)  Prakash Jaishankar W79 Wgsiay (D)  Rinku Hooda R& gser x,
32 Reguisitioning & Acquisition of Immovable Property {AmEnqunt} Bill, 2017 a bill (A
providing for amendment to the regulations .g;:wernmg compensation amnur]t payable al (C
the time of acquisition of immovable property by the central gnvarnma;t was introduced in
the Lok Sabha on July 18, 2017. This bill is an amendment to the E:_ngin;al act that came :II
into force in: @i W4T § 18 WellE, 2017 B "3(Fel Wufed & rfdyarevr W A% 2017" @& C
mﬁﬁwﬁmﬂ'uﬁﬁﬁmmwﬂaﬂﬂ;ﬁﬁéﬂwﬁﬁﬁfﬁmﬁmw (
mﬁaﬁﬁmwnmaﬂﬁﬁmqﬁmﬁmﬁwwﬁﬁﬁmﬁmm ’

(A) 1952 (B) 1951 (C) 1950 (D) 1949



' B
A&7 Photo voltaic cell UHIE diceld Hd {_E_J' :siirﬂ 7 B =T A & B
(C) Bio gas production o9 i e (P)

(A)  Web (B) Worm e Wreck

37, IPvB addresses have a size of:  |Pyg 5 # e &

. 5 its
(A) 64 bits _(By 128bits  (C) 256Dits (D) S12D!

38.  The Constitution of India recognises: 4Re SR AaT S ©

(A)  Only religious minorities #ael =fA® FETHEr] Pl

(8)  Only linguistic minorities e Y& FEH@w! G .

[y~ Religious and Linguistic minorities &1 8 Hifld el

D)  Religious, Linguistic & Ethnic minorities=fis, 7fYe v S aeodErHT o1

39.  During which of the following Mu?;.l"hﬂ_!jEm'%gir's rule.
by Emperor's Administration was the nignest? T S B ;
geTE BT sfteay Eeat 1 I & T ap? MATHTA | oD @
(A) HumayungHTq A8} Akbar HFaR

(C) Shahjahan smeE<TEl (D) Aurangzeb ahe

40. The Mansabdari system Jfﬁtrudus:e?::! % Akbar W
followed in/s#a7 gRT 4% @ Tg R %‘i‘ta-E "omowed from the Syst
LI 2

(A) Afghanistan ST
C)  Mongolia ®Ticram




